50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Module-l
1 a. Define controlled source and mentxon\lts types. Also, mentionits apphcatlons

17EC35

(05 Marks)

b. Using source shift and sourccrt ansformatlons determme the voltage across the current

source in Fig Q1(b).

A Fig Ql(b)
C. For the cmcult of Fig Q1(c), use nodal ana1y51s to determine the voltage labeled Vy

2 a. Define and explam supermeshy,

(05 Marks)

(10 Marks)

(04 Marks)

b. Use Star—Delta transformatlons toyﬁnd the equlvalent resistance at AB in Fig Q2(b).

Fig Q2(c)

1 of4

(06 Marks)

(10 Marks)
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b.

17EC35
Module-2
State and explain Millman’s theorem for AC circuit. (05 Marks)
Use superposition on the circuit shown in Fig Q3(b) to find the_;current I

(05 Marks)
Use Norton’s theorem for the circuit of F1g Q3(c) to determine the po er absorbed by the
20Q resistor. .

internal
(06 Marks)
“0’ 'x L/%
‘““ \ 4
< & (04 Marks)
For the circuit of Fig’ Q4(c) what value o ;RL will absorb a~ max1mum average power, and
what is the value of this power? A ° v 'S L) v
1:/\)
s (10 Marks)

4% " (06 Marks)
In the network ‘of the Fig QS(b) is Jin the steady state with the switch K closed. At t = 0, the

switch is opened Find thea 1ues of vi, va, v, and av, att=0".

dt dt

Fig 65(b) (08 Marks)
2 of4
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c. Find the Laplace transform of the waveform shown in Fig Q (Q)

(06 Marks)

a. In the network of the Fig Q6(a) a steady state is reached w1th the switch K open. AT time
£
dis

t =0, the switch is closed. Fmd tl}elvalues of iy, ip, (cll_tand b att 0"

Pl
on

\LV’ L4

, (10 Marks)
b. In the /neM ork of the Fig Q6(b),. the switch K is closed at t = 0 a steady state having
prevxously«exmted Draw the transform network and find'the current i(t), using the Laplace

_ Fig Qo)
5" Module-4

- halfpower freqlie cies. (06 Marks)
c. For the network ‘shown in Fig Q7(c) ‘determine the value of C at which it resonates when
f = 100Hz, Also find the values of Ry and Rc at which the circuit resonates at all
frequenc1es 4

|- BN
b €
2 Zg
Fig Q7(c) ‘ (08 Marks)

3 of4
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OR
Define the following terms pertaining to a series R-L- éiroult, i) Resonance ii) Quality
factor iii) Bandwidth iv) Selectivity. N (04 Marks)
A series R-L-C circuit with an input voltage 5|02V resonates at a frequency of 8400Hz.
The peak value of current is 500mA at resonance and the bandwidth is 120Hz. Determine
the values of R, L, C and cut-off frequencies. . % (06 Marks)
For the network shown in Fig Q8(c), determme 1) Resonance frequency i) Input admittance
iii) Quality factor iv) Bandwidth and v) half power ﬁequenmes Al

«II

K skﬁ,‘l'w % A=

N’ Fig Q8(C) 4 (10 Marks)
Y Module-5
Obtain Y-parameters m terms of z-parameters. (06 Marks)

Find hybrid parameters for the two part shown in  Fig Q9(b). What value of K in the two-part
of figure shown' w111 produce reciprocal network
A & ’{;:.,‘ 4 DJL kV, B+

(08 Marks)

.. JExplain h-parameter with equlvalent circuit. Also obtain t-parameters in terms of
h-parameters ¢ and‘hence show that AD — BC=1. (10 Marks)

b. Find the Z-parameters and the Y-parameters for the network of Fig Q10(b)
2V3

E R

4

Fig Q10(b) (10 Marks)

* %k k %k ok
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